Bid Comparison

Contract ID:

17C0057

Description:

Fire Station Site Water Service & Water Main Loop Closure

Location:

Dixie Highway Birch Run Township

Projects(s):

17C0057

Rank	Bidder	Total Bid	% Over Low	% Over Est.
0	ENGINEER'S ESTIMATE	\$84,700.00	21.00%	0.00%
1	(_334001) Duane Jones Excavating, Inc.	\$70,000.00	0.00%	-17.35%
2	(_012678) Keyes Trenching	\$88,430.00	26.32%	4.40%
3	(_05386) Wellman Excavating, Inc.	\$88,900.00	27.00%	4.95%
4	(_68518) Super Construction	\$96,976.00	38.53%	14.49%
5	(01415) Rohde Bros. Excavating, Inc.	\$105,385.00	50.55%	24.42%

Line Pay Item Code Q Description	uantity	Units	(0) ENGINEER'S E	STIMATE Total	(1) Duane Jones Ex Bid Price	cavating, Inc.	(2) Keyes Trenching Bid Price	Total
0001 155001	1	LSUM	\$5,000.00	\$5,000.00	\$2,850.00	\$2,850.00	\$2,300.00	\$2,300.00
Maintaining Traffic		LOOM	ψο,σσσ.σσ	ψ5,000.00	Ψ2,000.00	Ψ2,030.00	Ψ2,300.00	Ψ2,300.00
0002 171001	1	LSUM	\$7,700.00	\$7,700.00	\$3,155.00	\$3,155.00	\$1,500.00	\$1,500.00
Mobilization						,	V -V	4.1,
0003 174001	1	LSUM	\$5,000.00	\$5,000.00	\$3,200.00	\$3,200.00	\$3,200.00	\$3,200.00
Cleanup and Restoration			08 AND 1					
0004 3125001	1	LSUM	\$2,500.00	\$2,500.00	\$650.00	\$650.00	\$750.00	\$750.00
Soil Erosion and Sedimentation Control								
0005 3311005	1	Ea	\$4,000.00	\$4,000.00	\$5,250.00	\$5,250.00	\$8,000.00	\$8,000.00
Fire Hydrant								
0006 3311017	3	Ea	\$1,800.00	\$5,400.00	\$1,450.00	\$4,350.00	\$2,700.00	\$8,100.00
Gate Valve and Box, 8 inch								
0007 3311128	220	Ft	\$45.00	\$9,900.00	\$35.00	\$7,700.00	\$38.00	\$8,360.00
Water Main, PVC, 8 inch, Tr Det F								
0008 3311129	45	Ft	\$50.00	\$2,250.00	\$100.00	\$4,500.00	\$45.00	\$2,025.00
Water Main, PVC, 8 inch, Tr Det G								
0009 3311130 Water Main, PVC, 8 inch, Bored and Jac	66 cked	Ft	\$300.00	\$19,800.00	\$310.00	\$20,460.00	\$320.00	\$21,120.00
0010 3311191	85	Ft	\$80.00	\$6,800.00	\$80.00	\$6,800.00	\$140.00	\$11,900.00
Water Main, HDPE, 8 inch, Directionally	Bored		A/				# 30 \$A\$\$\$\$\$\$\$\$\$	
0011 3311245	115	Ft	\$30.00	\$3,450.00	\$35.00	\$4,025.00	\$35.00	\$4,025.00
Water Serv, Type K Copper, 1 inch, Bor	ed							
0012 3311271	1	Ea	\$400.00	\$400.00	\$350.00	\$350.00	\$650.00	\$650.00
Curb Stop and Box, 1 inch								
0013 3311281	1	Ea	\$500.00	\$500.00	\$660.00	\$660.00	\$700.00	\$700.00
Corporation and Tap, 1 inch	outepour de la company de la c							
0014 3311302	2	Ea	\$2,500.00	\$5,000.00	\$1,500.00	\$3,000.00	\$800.00	\$1,600.00
Pressure Connection, 8 inch								
0015 3311360	1	Ea	\$4,500.00	\$4,500.00	\$1,250.00	\$1,250.00	\$12,000.00	\$12,000.00
Cutting-In Tee	·							oonaa oo oo aan oo a
0016 3311375	1	LSUM	\$2,500.00	\$2,500.00	\$1,800.00	\$1,800.00	\$2,200.00	\$2,200.00
Testing and Disinfection								

Contract # 17C0057 (Dixie Highway Birch Run Township) MERL: 2017.5.0

Description Bid Totals:		Bid Price	Total \$84,700.00	Bid Price	Total \$70,000.00	Bid Price	Total 88,430.00
Line Pay Item Code	Quantity Units	(0) ENGINEER'S EST		(1) Duane Jones Exc		(2) Keyes Trenching	Total

Line Pay Item Code	Quantity	Units	(3) Wellman Excav	rating, Inc.	(4) Super Construct	tion	(5) Rohde Bros. Ex	cavating, Inc.
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0001 155001 Maintaining Traffic	1	LSUM	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	\$7,000.00	\$7,000.00
0002 171001 Mobilization	1	LSUM	\$8,000.00	\$8,000.00	\$1,500.00	\$1,500.00	\$6,000.00	\$6,000.00
0003 174001 Cleanup and Restoration	1	LSUM	\$8,000.00	\$8,000.00	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00
0004 3125001 Soil Erosion and Sedimentation Cont		LSUM	\$3,000.00	\$3,000.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00
0005 3311005 Fire Hydrant	1	Ea	\$5,500.00	\$5,500.00	\$7,800.00	\$7,800.00	\$5,800.00	\$5,800.00
0006 3311017 Gate Valve and Box, 8 inch	3	Ea	\$1,200.00	\$3,600.00	\$4,500.00	\$13,500.00	\$1,700.00	\$5,100.00
0007 3311128 Water Main, PVC, 8 inch, Tr Det F	220	Ft	\$60.00	\$13,200.00	\$65.00	\$14,300.00	\$85.00	\$18,700.00
0008 3311129 Water Main, PVC, 8 inch, Tr Det G	45	Ft	\$70.00	\$3,150.00	\$73.00	\$3,285.00	\$95.00	\$4,275.00
0009 3311130 Water Main, PVC, 8 inch, Bored and	66 Jacked	Ft	\$150.00	\$9,900.00	\$266.00	\$17,556.00	\$285.00	\$18,810.00
0010 3311191 Water Main, HDPE, 8 inch, Direction	85 ally Bored	Ft	\$140.00	\$11,900.00	\$100.00	\$8,500.00	\$130.00	\$11,050.00
0011 3311245 Water Serv, Type K Copper, 1 inch, I	115 Bored	Ft	\$30.00	\$3,450.00	\$29.00	\$3,335.00	\$20.00	\$2,300.00
0012 3311271 Curb Stop and Box, 1 inch	1	Ea	\$500.00	\$500.00	\$1,200.00	\$1,200.00	\$350.00	\$350.00
0013 3311281 Corporation and Tap, 1 inch	1	Ea	\$700.00	\$700.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00
0014 3311302 Pressure Connection, 8 inch	2	Ea	\$3,000.00	\$6,000.00	\$5,500.00	\$11,000.00	\$6,000.00	\$12,000.00
0015 3311360 Cutting-In Tee	1	Ea	\$5,000.00	\$5,000.00	\$5,500.00	\$5,500.00	\$6,000.00	\$6,000.00
0016 3311375 Testing and Disinfection	1	LSUM	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	\$1,000.00	\$1,000.00

Line Pay Item Code Description	Quantity Units	(3) Wellman Excavati Bid Price	ng, Inc. Total	(4) Super Construction Bid Price	Total	(5) Rohde Bros. Excav Bid Price	vating, Inc. Total
Bid Totals:		\$88,900.00		\$96,976.00		\$105,385.00	